20144E RXOASE S2UNY HXl (1/2]

o Ag 2¢] MYM o ey TxostEE F7HIAL
1 Lpe ialAlaS BersiiLl "Etslx] gy oh
o LJE croixjo] Mg wEstol 73R gHlaUct SITES g5 4
5 U= sl2Ex ge maM, k£, JEf oM 2T 4 o
Eistajel chotx| =2 2o SelxE Aaix] Rl T =2
auich, - -
4 Cle Efolof7 ererxis 2oiFx zlgHcH =
5 LIS AjSlof welut sl= #elE six As
2 LIS AgAl Z=pel AR maol mEASUCE | a4 s
Lt AjZio] $I21 SHQIE OfR| o7, A ZLIOEA | BT X S8
Lio] o= K| N USTLCL

1. The inclined member in Fig. is subjected to a compressive force of 600 Ib.
Determine the average compressive stress along the smooth areas of contact defined by A5 and BC,
and the average shear stress along the horizontal plane defined by EDAB.

600 1b

2 The steel strap shown in Fig. is subjected to an axial load of 80 kN.

Determine the maximum normal stress developed in the strap and the displacement of one end of the
strap with respect to the other end. The steel has a yield stress of 6y = 700 MPa, Es = 200 Gpa.
Stress—concentration factor g =1.6,
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3. Determine the principal moments of inertia for beam's cross—sectional area shown in Fig.
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with respect to an axis passing through the centroid C. ; =290(10°)mm" I, =5.6000")ymm* 1, = 23.00(10° ymm’
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4. The solid steel shaft shown in Fig. has a diameter of 20mm.
If it is subjected to the two torques, determine the reaction at the fixed supports A and 5.

5 Draw the shear and moment diagrams for the beam shown.
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